
 

Push-on Hose Barbs

No. Part No. Description Size Picture

1126 725-2010 Rigid Male Pipe 1/4" Hose x 1/8" MPT

1127 725-2020 Rigid Male Pipe 1/4" Hose x 1/4" MPT

1128 725-2030 Rigid Male Pipe 1/4" Hose x 3/8" MPT

1129 725-3010 Rigid Male Pipe 3/8" Hose x 1/8" MPT

1130 725-3020 Rigid Male Pipe 3/8" Hose x 1/4" MPT

1131 725-3030 Rigid Male Pipe 3/8" Hose x 3/8" MPT

1132 725-3040 Rigid Male Pipe 3/8" Hose x 1/2" MPT

1133 725-4020 Rigid Male Pipe 1/2" Hose x 1/4" MPT

1134 725-4030 Rigid Male Pipe 1/2" Hose x 3/8" MPT

1135 725-4040 Rigid Male Pipe 1/2" Hose x 1/2" MPT

1136 725-4060 Rigid Male Pipe 1/2" Hose x 3/4" MPT

1137 725-5030 Rigid Male Pipe 5/8" Hose x 3/8" MPT

1138 725-5040 Rigid Male Pipe 5/8" Hose x 1/2" MPT

1139 725-5060 Rigid Male Pipe 5/8" Hose x 3/4" MPT

1140 725-6040 Rigid Male Pipe 3/4" Hose x 1/2" MPT

1141 725-6060 Rigid Male Pipe 3/4" Hose x 3/4" MPT

1142 729-20 Hose Splicer 1/4" Hose

1143 729-30 Hose Splicer 3/8" Hose

1144 729-40 Hose Splicer 1/2" Hose

1145 729-50 Hose Splicer 5/8" Hose

1146 729-60 Hose Splicer 3/4" Hose

1147 728-2020 Swivel Female 45
o
 Flare 1/4" Hose x 1/4" Flare Nut

1148 728-2025 Swivel Female 45
o
 Flare 1/4" Hose x 5/16" Flare Nut

1149 728-3030 Swivel Female 45
o
 Flare 3/8" Hose x 3/8" Flare Nut

1150 728-3040 Swivel Female 45
o
 Flare 3/8" Hose x 1/2" Flare Nut

1151 728-4040 Swivel Female 45
o
 Flare 1/2" Hose x 1/2" Flare Nut

1152 728-4050 Swivel Female 45
o
 Flare 1/2" Hose x 5/8" Flare Nut

1153 728-5050 Swivel Female 45
o
 Flare 5/8" Hose x 5/8" Flare Nut

1154 728-6050 Swivel Female 45
o
 Flare 3/4" Hose x 5/8" Flare Nut

1155 728-6060 Swivel Female 45
o
 Flare 3/4" Hose x 3/4" Flare Nut

1156 738-2020 Swivel Female 37
o
 Flare 1/4" Hose x 1/4" Flare Nut

1157 738-2030 Swivel Female 37
o
 Flare 1/4" Hose x 3/8" Flare Nut

1158 738-3030 Swivel Female 37
o
 Flare 3/8" Hose x 3/8" Flare Nut

1159 738-3040 Swivel Female 37
o
 Flare 3/8" Hose x 1/2" Flare Nut

1160 738-4030 Swivel Female 37
o
 Flare 1/2" Hose x 3/8" Flare Nut

1161 738-4040 Swivel Female 37
o
 Flare 1/2" Hose x 1/2" Flare Nut

1162 738-4050 Swivel Female 37
o
 Flare 1/2" Hose x 5/8" Flare Nut

1163 738-6060 Swivel Female 37
o
 Flare 3/4" Hose x 3/4" Flare Nut

1164 738-8080 Swivel Female 37
o
 Flare 1" Hose x 1" Flare Nut

1165 739-2010 90
o 

Male Pipe Elbow 1/4" Hose x 1/8" MPT

1166 739-2020 90
o 

Male Pipe Elbow 1/4" Hose x 1/4" MPT

1167 739-3010 90
o 

Male Pipe Elbow 3/8" Hose x 1/8" MPT

1168 739-3020 90
o 

Male Pipe Elbow 3/8" Hose x 1/4" MPT

1169 739-3030 90
o 

Male Pipe Elbow 3/8" Hose x 3/8" MPT

Barstock Forged  

Barstock Forged  

30


